NHTEPCK{IN

ITA-26/18BM

731

*k ),k Kk k%

[TEP®OPATOP PYUHOU AKKYMYVYJISITOPHBIN

JlencTBUTENEH C:

| 19.09.2022

KaraJjor 3anmacHBIX yacreii

ApTHKY]T Hanmenosanmue aeTaau Ne na cxeme XapakTepucTuka Kox-Bo mr./u3n.
731.02.00.00.00 Mygra B c6ope 1 1
66.03.00.01.01 Konmavox 3ammras1it 1-1 1
00.02.98.01.09 Konb1o npyxunnoe 1-2 219x2 1
731.03.00.02.00 Brynka HaxxumHas 1-3 1
68.03.00.03.00 Kosbio 1-4 021x031,5x4 (D21xD32x4) 1
00.02.10.10.00 [apux 15 07,14 1
68.03.00.04.00 1aii6a cnenymanbpHas 1-6 232 1
68.03.00.05.00 Ipyxuna 1-7 L-20mm; d-1,5mm (koHn4eckas) 1
00.02.03.01.52 Bunt camopes 2 ST4.8x35 (ST5x35) 4
731.03.01.00.00 Kopmyc peaykropa B cope 3 1
731.03.01.01.00 Kopmyc pexykropa 3-1 1
68.03.00.12.00 Mamxera 3-2 @41x7xD30 (304171413X) 1
68.03.04.00.00 TloAMMITHUK UroJBYATHIA B cOOpe 3-3 1
00.01.02.01.18 IMoamunuuk ponMKoBLIi 3-3-1 HK3012(30x37x12) 1
68.03.00.13.00 Bryika 3-3-2 ?43,6x36,95x24,5 1
00.01.02.01.26 TToMNITHUK POIMKOBBIIT 3-4 HKO0608 (6x10x8) 1
00.01.01.21.18 TIOAMMITHUK IAPUKOBBIH 3-5 628/6-2z (6x13x5) 1
324.03.02.00.00 INepekimoyarens pexUMOB B cbope 4 1
100.05.01.02.00 Knomnka 4-1 1
100.05.01.03.02 [pyxwuna nepexmoyarens 4-2 1
100.05.01.01.00 Konb1o pesnnoBoe 4-3 ©16x11x2.5 (yninoTHUTENBHOE) 1
324.03.02.04.00 Pyuka nepexmoyarens 4-4 1
731.03.03.00.00 CrBou B c60pe C yIapHBIM MEXaHH3MOM 5 1
86.03.01.01.01 Koo 5-1 231,0x2,6 1
68.03.01.02.00 ITaii6a 5-2 @30x41,5x2,5 1
86.03.00.22.00 Tpyxuna 5-3 ?39xD31 4.2; 1
68.03.01.04.00 Komneco 3y6uartoe 5-4 D-50mm; Z=40 1
00.02.11.03.02 POJIMK Urob4aThiii 5-5 2,5x11,8 3
731.03.00.17.00 Brynka kynadkoBast 5-6 ©41x31mm; L-7,3mm 1
68.03.01.01.00 Koub1io 3anopHoe 5-7 ?30x2 (D30x1,5) 1
731.03.03.01.00 CrBon 5-8 229,95mm; L-132mm 1
68.03.00.09.00 Mamxkera 8.2x 16 x 5 5-9 8.2x16x5 (97516525BX) 1
68.03.00.10.00 Brynxa 5-10 @20mm; L-11,5mm 1
731.03.01.02.00 Ipommacca 5-11 ?8,95mm; L-43,4mm 1
68.03.01.08.00 Kopmyc nosurerns 5-12 025mm; L-18,3mm 1
68.03.01.09.00 AmopTu3zarop 5-13 1
68.03.01.10.00 JloBurens Goiika 5-14 1
68.03.01.11.00 Kpsluika joBuTest 5-15 @25mm; L-11,3mm 1
68.03.01.12.00 Kombio cromoproe 5-16 025x2,0 (@25x1,5) 1
324.03.04.00.00 Iopurens B coope 6 1
68.03.00.15.00 Boéx 6-1 @21mm 1
68.03.00.16.00 KoJibli0 yIIoTHUTEIbHOE 6-2 021x3 1
68.03.00.17.00 Tlopiens 6-3 025mm 1
68.03.00.19.00 Kosbiio 6-4 @12x17x1,2 2
68.03.00.18.00 Tanerg 6-5 ?11,95x21 1
731.03.05.00.00 Tpomutut B cGope 7 1
68.03.02.01.00 TToAMMIHUK CKONBKEHUS 7-1 ?35x30x8 1
324.03.05.02.00 TIpomumt 7-2 1
68.03.03.05.00 CanbHuK 7-3 5,5x7 derp 1
68.03.02.04.00 Kosb1io yninoraurensHoe 7-4 028x2,5 1
00.01.01.01.36 TloAIIMITHIK apHKOBBIH 7-5 609-2RS (9x24x7) 1
324.03.07.05.00 Kpeiika noaumummnsmka 7-6 1
00.02.04.05.03 Bunt 7-7 M4x10 2
67.03.00.08.01 IMTaii6a 7-8 ?10x1 1
00.01.01.21.14 TloAIIMITHIK MapHKOBBIH 7-9 627-27Z (7x22x7) 1
731.03.06.00.00 MexaHH3M TIepeKIroYeHus B cOope 8 1
731.03.06.01.00 Och 8-1 @4,0mm; L-94mm 1
324.03.06.05.00 Cxoba Hanpapstiomas 1 8-2 1
324.03.06.02.00 Croba nepexiodaTenst 8-3 1
324.03.06.03.00 Tpyxuna 8-4 06,5MMm; L-22mMM 1




324.03.06.04.00 Cxoba nanpapmsomas 2 8-5 1
324.03.07.00.00 TloamunHuK Kavyaronmiics B coope 9 1
324.03.07.01.00 Ban numnesoit 9-1 z-9; L-104,6mm 1
324.03.07.02.00 Biok cuernnenust B coope 9-2 L-40,87mm 1
324.03.07.03.00 TToIIMITHYK Kavaromuics 9-3 L-33,5mm 1
324.03.07.04.00 Koueco 3y64aroe 9-4 z-31 k.3y6. ©30,7 L-25.4 1
00.01.01.01.06 TloAMMITHNK IIaPUKOBBIH 9-5 607-2RS (7x19x6) 1
00.02.02.01.04 IIaiiGa rpoBepHas 10 04 3
00.02.04.01.01 Bunt 11 M4x10 3
00.02.03.01.11 BunTt camopes 14 ST3.9x16 12
731.05.00.02.00 Kopmyc aeurarens 15 1 koMMt
730.05.00.03.00 Tlepexirouarens pesepca 16 1
732.04.02.01.00 Potop 17 z-7 (x.3y6.); d-26mm; L-104mm 1
730.04.01.00.01 Crarop B cope 18 1
730.04.01.01.00 Cratop 18-1 D50x27x25 1
730.05.00.04.00 KopobGka MoHTa)KHast 18-2 1
730.05.00.05.00 Kppimka KopoOK# MOHTaKHOM 18-3 1
00.02.03.01.81 Bunt camopes 18-4 ST3.0x10 4
00.10.01.07.07 Beikmouarens 18-5 KG-DC001 42V DC T55 1
00.01.08.01.16 DIeKTPOHHBII OJIOK yrpaBieHUs: 18-6 1
730.04.00.02.01 Kononka kiemmuas 18-7 1
329.04.00.06.00 Konoika KOHTaKTHas 18-8 1
329.05.00.03.00 VHop pe3uHoBBIiH 19 D5x6 1
730.05.01.04.00 Onopa nomuIMHAKa 20 1
732.02.01.00.01 Pyuxa GokoBas B coope 21 1
68.02.00.01.04 Xomyt 21-1 d46,1 1
68.02.01.02.00 BuHT crienuansHbIi 21-2 M8 1
68.02.01.05.00 BunT 6apamkossiit 21-3 M6x15 1
68.02.01.03.00 Jlepxarenn 21-4 1
68.02.01.04.00 TIpmwxum 21-5 M6 1
68.02.01.04.20 PykosTka 21-6 1
68.02.01.07.21 3armymka 21-7 1
100.02.00.01.00 OrpanuauTenh IyOHHb! GypeHus (CBepiIeHNs ) 22 1
730.05.01.05.00 Abaxyp 23 1
68.03.02.02.00 Kosblio yImioTHUTEbHO 24 D68x7 1

HUHTEPCKO.I




NHTEPCK{N

Pa30opHnas cxema

JeiicTBuTeneH ¢

ITA-26/18BM

ApTuKyD U3aenus:

731

*k kk kk k%

19.09.2022




